TR 184E

L= b &3 3
. K= | A4 AR
(W#ER) | B2 A
— R B
XiE_[KR(CC) | KIR(°C) | BREUKE iR =Xz R
48] Bh 22.5 14.5 == BE [R5 mR
68| ®Bh 25.0 21.0 == BE x|t mR
s8Al BEBh 32.6 27.5 == BE k-t me
108| HBh 26.4 225 =RE BE xB-mh mR
128 BBh 14.3 15.3 == BE xE-mh mR
28| Bh 15.0 15.5 xE BE B - B®R
4FRIFIER _
oH DO BOD SS KEEHK
(mg/1) (mg/I) (mg/1) | (MPN/100ml)
EZ&(E]| 6.5~85 | 15LLE 20LLF | 25L0F [ 1000LLF
EHE (75%1E) - 9.0 0.7(0.8) i =
4K 6.7 8.2 <05 4 -
64 7.7 9.6 1.1 <1 —
8H 6.9 8.0 0.5 A -
10H 6.9 8.3 <0.5 A -
128 7.3 10 0.8 4 -
28 7.0 9.9 0.7 <1 —
BEIER
NP INESD & VaX i ZA=I e fiok 8 7 IIL¥ILKER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
S| 001LLF [ E#HE | 001LTF 0.05LLF [0.01LLF | 0.0005LLF JEHRH
EiH{E - - - - = = =
4K - - - - - - -
6H - - - - - - -
8H - - - - - - -
10R - - - - - - -
128 - - - - - - -
2R - - - - - - -
>ooni = | 1,2->700 [1,1->5an|>A-1,2->50a| 1,1,1-FJZ0
PCB 5 mig ik k& T4 Pty NTFL T4
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
El ER/H (00280 000280 F | 0004LLF [0.02LLF | 0.04LLF 1LF
TiH{E - - - - = = =
4K - - - - - - -
6H - - - - - - -
8H - - - - - - -
10R - - - - - - -
128 - - - - - - -
2R - - - - - - -
1,1,2-r)4 |MYSO0OFFS5400x] 1,3-4900 - s oyt FARUAIL
aaIsy | TFLY FLY Fary Froo5 L IV 5
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEA{EI0.006LLTF10.03LLF| 0.01LLF [ 0.002LLF [0.006LLF| 0.003LLF 0.02LLF
TiH{E - - - - - - -
4K - - - - - - -
68 - - - - - - -
8H - - - - - - -
10R - - - - - - -
128 - - - - - - -
2R - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
XMl 001LLF [001LLF| 10UF 0.8LLF 1LLF
—weEl - [ - - - -
47 - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
N—~FXH \ RILLTZILT
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - 0.48 0.024 - - - -
4A - 0.70 0.025 - - - -
64 - 0.99 0.040 - - - -
8H - - - - - - -
10H - 0.30 0.015 - - - -
12H - 0.34 0.015 - - - -
2H - - - - - - -
BiLH HIHEY = UUEB s o =3 S
IT/=| xS cobD = > AR BREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
TEE - - 07 - - - -
48] - - 05 - - - -
6A| - - <05 - - - -
sA| - - 0.9 - - - -
10R] - - 1.0 - - - -
12A| - - 05 - - - -
28 - - 1.0 - - - -




RIS

B 3
o % TEXE| M4 KB
(BER) | BB A
—#RIEE
Xfg |SBCC)| KB(°C) | HFBUKE | FiR .48 X
48] Bh 22.5 15.8 KRB B et | JIER-H
68| fEh 24.5 22.0 RIE B AN mR
8A| Eh 30.1 23.2 =[E BE A ®mR
10A| BEh 25.6 19.5 KRB BE fxfh - BR
12A| Bh 12.3 12.2 KRB BE e - BR
28| Bh 135 125 RE BE fxfh - mR
&FRIBIEE __
oH DO BOD SS PN T f2
(mg/) (mg/1) (mg/1) | (MPN/100ml)
EEfE| 65~85] 75LLF 200LF [ 25L1F [ 1000LLF
F{E(75%1E) - 8.8 0.7(0.8) 1 1200
48] 68 8.2 <05 i -
6A] 72 9.4 0.8 <1 17
8A| 69 8.0 0.6 <1 -
10A| 67 8.2 <05 <1 2400
12A| 67 10 1.2 i -
2A] 13 9.2 0.6 <1 -
BEEE
AREOL| 2TV $h Al/OL | WmE BEKER 7 IL¥FILKER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
B 001 T | M | 001UTF [ 0050 F [001LLTF [ 0.0005LLF R H
FH{E] <0.002 <01 <0.005 <0.02 <0.001 <0.0005 -
4H] <0.002 <01 <0.005 <0.02 <0.001 <0.0005 -
6A| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8H - - - - - - -
10A[ <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
12A[ <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
28 - - - - - - -
DORRA Lenwe |1,2-0U00 [1,1-S400|P2-1,2-090A( 1,1,1-k)9A
PCB |" g, ~| BEERR | " 140 |'zFir | mzFLr | nzsy
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
FEEE] FERH (00200 [ 00028F [0004F  [0.0200F [ 0045 F 1LLF
FHiEl - <0002 [ <0.0002 <0.0004 <0.002 <0.004 <001
47 - <0.002 | _<0.0002 <0.0004 <0.002 <0.004 <0.01
68 - <0.002 | <0.0002 <0.0004 <0.002 <0.004 <0.01
8H - - - - - - -
10H - <0.002 | <0.0002 <0.0004 <0.002 <0.004 <0.01
12H - <0.002 | <0.0002 <0.0004 <0.002 <0.004 <0.01
28 - - - - - - -
1,1.2-kys (F)Y00(Fr5500x( 1,3->500 = SN FAR AL
haTss | TALY | Fov | Fasy | FOTA| YDV J
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
FE#(E[0.006LLTF[0.03LATF [ 0.01LLF [0.00250F  [0.006 A F[ 0.003LLF 0.02LLF
FE5{E[ <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
4 AJ <0.0006 | <0.003 <0.001 <0.0002__| <0.0006 <0.0003 <0.002
6A]| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8H - - - - - - -
10A]| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12H8]| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
28 - - - - - - -




HEBHEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E (] 0.01LLTF [0.01LLF| 10LLTF 0.8LLF 1LLF
E{E]  <0.001 <0.001 0.29 <0.1 0.1
48] <0.001 <0.001 0.32 <0.1 <0.1
68| <0.001 <0.001 0.28 <0.1 0.1
8H - - - - -
10A]| <0.001 <0.001 0.31 <0.1 <0.1
12A] <0.001 <0.001 0.24 <0.1 0.1
2R - - - - -
TN IFE
Ny 2EX | &% @ | 2E® | soofus [TPRTLT
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EH{E - 0.38 0.025 <0.04 <0.005 - -
4K - 0.44 0.026 <0.04 - - -
68 - 0.40 0.035 <0.04 - - -
8H - - - - <0.005 - -
10A - 0.33 0.022 - - - -
128 - 0.33 0.017 - - - -
2R - - - - - - -
B IR = VB . e g i
Jx/—JL gy COD = > AE EREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EH{E - 400 0.9 <0.01 0.02 - -
4K - 86 0.6 <0.01 0.02 - -
68 - 460 0.6 <0.01 0.02 - -
8H - - 1.0 - - - -
10R - 210 15 - 0.01 - -
128 - 830 0.8 - 0.01 - -
28 - — 0.9 - - - -




